()

PHILIPS-SERVICE

o ] 239 z =50
igﬁi‘si AL 110 V, 125 V, 145 V,
7252000 m 200 V, 220 V, 245 V.

128 ke/s 4 W
A-32 125 ke/s

AL | 7252000 m I |2c [725-2000m M |20 |19 585 m IV
=< | c10, €11, €12 max ~

== | a0, c11, €12 min — C 2y | 744 kefs — \f/

VoL max. VoL max. 7:: Clo’ C] 1’ a2 Ozf’/‘-
A | 128 kefs - 8

A | 128 ke/s-33000 pF-gaB1 | " ’ 2 | 1000 ke/s— Y

125 ke/s (A-32
125 ke/s (A-32) </ (A-32) () | ¢46 min.
C13 min.

7 | cea—25000 0 O o

() | €25 max. AY | 198585 m ]

g | c24 .
== [ c10, c11, c12 + 150

745 | €23-10.000 0-0,1 yF
VoL max.

O €22 max. A .
N7 | 1442 ke/s—

Pt | c23 - \i/

: () | €17,€14,€15,€14,€17 wax.

777 | c25—25000 O

) | c24 max A | 1252000m I

s = | a0, a1, ca2 + 150

4 | €22-10.000 0-0,1 yF
voL. max.

O €23 max. A~

e A7 [ 395 kefs—

' n O C18 max.
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Bl B2 B3 B4 I BS
AK 2 AF 3 AB 2 AL 4 | AZ 1
Va 225 235 220 v
Vg2(3,5) 80 80 235 v
Vg 2 2 9 v
In 2 63 33,7 mA
T2 18 2,2 3,8 mA
1g3(5) 4,7 mA
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L’\g voL A
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R1 82000/3 Q 48 427 10/82K C1 32 yF 28182 400
R2 3300 O 48 426 10/3K3 c2 32 uF 28 182 400
R4 270 O 48 426 10,270E || C4 50 uF 49 020 010
R5 270 O 48 426 10/270E || C5 0,1 yF 48 751 10/100K
R9 100 O 48 426 10/100E || C6 0,1 yF 48751 10 100K
R10 0,1 M() 48 426 10/100K || c8 47000 pF 48751 10/47K
RI11 | 47000 48426 10 47K c9 0,1 uF 48 751 10/100K
Q)

=
=
Y]
-
=

48 426 10/ 1M

RI3 [ 047M | 4842610470 || €11 | 11-490 pF’ [ 28211421

RI4 | 0,1MQ | 48426107100K || €12 [ 11-490 pF) -

RI5 | 65MQ | 28811280 €13 | 12170 pF —

RI5)|  0.5MO | 28810190 Cl4 | 2.5-30 pF —

RI6 | 39000 o |4842610/39K || C15 | 2,5-30 pF —

R17 1MO [48426101M || €17 | 2)5-30p F —

RI8 | 125 O 28774640 C18 | 2)5.30 pF —

R22 | 50000 O | 28811020 c22 | 12.170 pF | 28811310

R221)| 50000 () | 28811310 €23 | 12170 pF .

R23 | 100 0 |4842610/100E || 24 |12170 pF | 28211310

R24 | 0,1MO | 4842610100K || €25 | 12170 pF _

R25 | 1000 O |48426101K || C28 10 pF | 48 406 99/10E

R26 33 O |4842510/33E || 20 | 15000 pF | 48751 10/15K

R31 | 10000 0 |4842610/10K || C30 | 27000 pF | 48751 10/27K

R32 47 (0 |484251047E || 31 15 pF | 48406 10/15E
€32 700 pF | 48429 01/:100E
€33 | 1490 pF | 4842901/1K49
C34 100 pF | 48 406 10,100
€35 0,1 uF | 48751 10/100K
€36 6,8 pF | 48 406 99/6E8
€37 | 10000 pF | 4875110/10K
38 100 pF | 48406 10/100E
c41 | 4000 pF | 28199710
C42 | 47000 pF | 48752 10/47K
Ca4 01 yF | 48751 10/100K
45 2 pF | 28205880
C46 | 2,5-30 pF | 28211830
€47 22 pF | 48406 10/22E
49 800 pF | 48 429 10/800E
€50 6,8 pF | 48406 99 6E8

S1, 52, S3, S4 28 529 540 1| S14,515, 516,517/

S5 28 546 080 €17, 18 ¢| 2857050

$6, S13 28 570 481 || s18, S19 28 587 090

S7, S8, C14, S8 ¢ s20, S21, C23 28 570 522

s10 28570 541 || g3 593 524, 25 | 28 570 720

s11, s12, C15 28 570 491 || s26, s27, $30 28 529 790

s13 28 587 080 || s28 28 220 200

1) A-16 93 950 45
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